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(1)
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i= ekWMy iz’u i= ekWMy iz’u i= ekWMy iz’u i=     (Model Question Paper)

d{kk%&d{kk%&d{kk%&d{kk%&   12oha   12oha   12oha   12oha Class 12th

fo"k;%&  iqLrikyu ,oa ys[kkdeZfo"k;%&  iqLrikyu ,oa ys[kkdeZfo"k;%&  iqLrikyu ,oa ys[kkdeZfo"k;%&  iqLrikyu ,oa ys[kkdeZ Subject:- Book keeping & Accountancy
le;%&  3 ?k.Vsle;%&  3 ?k.Vsle;%&  3 ?k.Vsle;%&  3 ?k.Vs Time:- 3 Hours
iw.kkZd%& 100iw.kkZd%& 100iw.kkZd%& 100iw.kkZd%& 100 Maximum Marks :-  100

funsZ’k &funsZ’k &funsZ’k &funsZ’k & ¼¼¼¼ i ½½½½ lHkh iz’u gy dhft, AlHkh iz’u gy dhft, AlHkh iz’u gy dhft, AlHkh iz’u gy dhft, A
Attemp all question.

¼¼¼¼ i i ½½½½ iz’u dzekad 1 ls 10 rd ds fy, 2 vad fu/kkZfjr gS Aiz’u dzekad 1 ls 10 rd ds fy, 2 vad fu/kkZfjr gS Aiz’u dzekad 1 ls 10 rd ds fy, 2 vad fu/kkZfjr gS Aiz’u dzekad 1 ls 10 rd ds fy, 2 vad fu/kkZfjr gS A
Question No. 1 to 10 carries 2 marks each.

¼¼¼¼ i i i ½½½½ iz’u dzekad 11 ls 18 rd ds fy, 3 vad fu/kkZfjr gS Aiz’u dzekad 11 ls 18 rd ds fy, 3 vad fu/kkZfjr gS Aiz’u dzekad 11 ls 18 rd ds fy, 3 vad fu/kkZfjr gS Aiz’u dzekad 11 ls 18 rd ds fy, 3 vad fu/kkZfjr gS A
Question No. 11 to 18 carries 3 marks each.

¼¼¼¼ iv ½½½½ iz’u dzekad 19 ls 24 rd ds fy, 4 vad fu/kkZfjr gS Aiz’u dzekad 19 ls 24 rd ds fy, 4 vad fu/kkZfjr gS Aiz’u dzekad 19 ls 24 rd ds fy, 4 vad fu/kkZfjr gS Aiz’u dzekad 19 ls 24 rd ds fy, 4 vad fu/kkZfjr gS A
Question No. 19 to 24 carries 4 marks each.

¼¼¼¼v½½½½ iz’u dzekad 25 ,oa 28 rd ds fy, 5 vad fu/kkZfjr gS Aiz’u dzekad 25 ,oa 28 rd ds fy, 5 vad fu/kkZfjr gS Aiz’u dzekad 25 ,oa 28 rd ds fy, 5 vad fu/kkZfjr gS Aiz’u dzekad 25 ,oa 28 rd ds fy, 5 vad fu/kkZfjr gS A
Question No. 25 to 28 carries 5 marks each.

¼¼¼¼vi ½½½½ iz’u dzekad 29 ,oa 30 ds fy, 6 vad fu/kkZfjr gS Aiz’u dzekad 29 ,oa 30 ds fy, 6 vad fu/kkZfjr gS Aiz’u dzekad 29 ,oa 30 ds fy, 6 vad fu/kkZfjr gS Aiz’u dzekad 29 ,oa 30 ds fy, 6 vad fu/kkZfjr gS A
Question No. 29 & 30 carries 6 marks each.

iz’u 1iz’u 1iz’u 1iz’u 1 &&&& izs"k.k Lda/k fdls dgrs gS \izs"k.k Lda/k fdls dgrs gS \izs"k.k Lda/k fdls dgrs gS \izs"k.k Lda/k fdls dgrs gS \
What do you mean by consignment ?

iz’u 2iz’u 2iz’u 2iz’u 2 &&&& izkfIr Hkqxrku [kkrk vkSj vk; O;; [kkrs esa nks varj nhft, AizkfIr Hkqxrku [kkrk vkSj vk; O;; [kkrs esa nks varj nhft, AizkfIr Hkqxrku [kkrk vkSj vk; O;; [kkrs esa nks varj nhft, AizkfIr Hkqxrku [kkrk vkSj vk; O;; [kkrs esa nks varj nhft, A
Differentiate between Receipts and payment A/c and income and expendi-
ture A/c (Any two)

iz’u 3iz’u 3iz’u 3iz’u 3 &&&& izkjafHkd iwath dh x.kuk fdl izdkj dh tkrh gS \izkjafHkd iwath dh x.kuk fdl izdkj dh tkrh gS \izkjafHkd iwath dh x.kuk fdl izdkj dh tkrh gS \izkjafHkd iwath dh x.kuk fdl izdkj dh tkrh gS \
How do you find out initial capital ?

iz’u 4iz’u 4iz’u 4iz’u 4 &&&& xSj O;kikfjd laLFkkvksa ds vk; ds izeq[k lzksr crkb;s AxSj O;kikfjd laLFkkvksa ds vk; ds izeq[k lzksr crkb;s AxSj O;kikfjd laLFkkvksa ds vk; ds izeq[k lzksr crkb;s AxSj O;kikfjd laLFkkvksa ds vk; ds izeq[k lzksr crkb;s A
What are the important sources of incomes of non-trading concerns ?

iz’u 5iz’u 5iz’u 5iz’u 5 &&&& izs"k.k ij Hksts x, eky dk ykxr ewY; 33]000 :- gS fdUrq chtd ewY;izs"k.k ij Hksts x, eky dk ykxr ewY; 33]000 :- gS fdUrq chtd ewY;izs"k.k ij Hksts x, eky dk ykxr ewY; 33]000 :- gS fdUrq chtd ewY;izs"k.k ij Hksts x, eky dk ykxr ewY; 33]000 :- gS fdUrq chtd ewY;
ykxr ls 10 izfr’kr vf/kd gS A eky dk chtd ewY; Kkr djks Aykxr ls 10 izfr’kr vf/kd gS A eky dk chtd ewY; Kkr djks Aykxr ls 10 izfr’kr vf/kd gS A eky dk chtd ewY; Kkr djks Aykxr ls 10 izfr’kr vf/kd gS A eky dk chtd ewY; Kkr djks A
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The cost price of goods send on consignment is Rs. 33000, but invoice
price is 10% more thain cost price. Calculate invoice price.

iz’u 6iz’u 6iz’u 6iz’u 6 &&&& olwyh [kkrs ls D;k vk’k; gS Aolwyh [kkrs ls D;k vk’k; gS Aolwyh [kkrs ls D;k vk’k; gS Aolwyh [kkrs ls D;k vk’k; gS A
What do you mean by realization A/c ?

iz’u 7iz’u 7iz’u 7iz’u 7 &&&& u, lk>snkj ds izos’k ij [;kfr [kkrk viysf[kr djus gsrq dkSu lh izfof"Vu, lk>snkj ds izos’k ij [;kfr [kkrk viysf[kr djus gsrq dkSu lh izfof"Vu, lk>snkj ds izos’k ij [;kfr [kkrk viysf[kr djus gsrq dkSu lh izfof"Vu, lk>snkj ds izos’k ij [;kfr [kkrk viysf[kr djus gsrq dkSu lh izfof"V
dh tk,xh Adh tk,xh Adh tk,xh Adh tk,xh A
Write  the journal entries for write off goodwill on admission of new
partner ?

iz’u 8iz’u 8iz’u 8iz’u 8 &&&& jke us 5]000 Vu dks;yk 20 :- izfr Vu dh nj ’;ke dks izsf"kr fd;kjke us 5]000 Vu dks;yk 20 :- izfr Vu dh nj ’;ke dks izsf"kr fd;kjke us 5]000 Vu dks;yk 20 :- izfr Vu dh nj ’;ke dks izsf"kr fd;kjke us 5]000 Vu dks;yk 20 :- izfr Vu dh nj ’;ke dks izsf"kr fd;k
ftl ij izs"kd us 15]000 :- HkkM+k rFkk vU; O;; ds pqdk, A ekxZ esa 100ftl ij izs"kd us 15]000 :- HkkM+k rFkk vU; O;; ds pqdk, A ekxZ esa 100ftl ij izs"kd us 15]000 :- HkkM+k rFkk vU; O;; ds pqdk, A ekxZ esa 100ftl ij izs"kd us 15]000 :- HkkM+k rFkk vU; O;; ds pqdk, A ekxZ esa 100
Vu dks;yk de gks x;k izs"k.kh ds ikl 900 Vu dks;yk ’ks"k cpk A izs"k.kVu dks;yk de gks x;k izs"k.kh ds ikl 900 Vu dks;yk ’ks"k cpk A izs"k.kVu dks;yk de gks x;k izs"k.kh ds ikl 900 Vu dks;yk ’ks"k cpk A izs"k.kVu dks;yk de gks x;k izs"k.kh ds ikl 900 Vu dks;yk ’ks"k cpk A izs"k.k
Lda/k dk ewY; Kkr dhft, ALda/k dk ewY; Kkr dhft, ALda/k dk ewY; Kkr dhft, ALda/k dk ewY; Kkr dhft, A
Ram send 5,000 tonnes of coal Rs. 20 per ton to Shyam. Ram spend Rs.
15,000 for freight etc. In transit 100 tonnes of coal were lost. and 900
tonnes of stock of coal remained with them. Find the value of consign-
ment stock.

iz’u 9iz’u 9iz’u 9iz’u 9 &&&& la;qDr lkgl dh nks fo’ks"krk,a fyf[k, Ala;qDr lkgl dh nks fo’ks"krk,a fyf[k, Ala;qDr lkgl dh nks fo’ks"krk,a fyf[k, Ala;qDr lkgl dh nks fo’ks"krk,a fyf[k, A
Explain two characteristics of Joint venture ?

iz’u 10iz’u 10iz’u 10iz’u 10 &&&& iwaph lat; D;k gS Aiwaph lat; D;k gS Aiwaph lat; D;k gS Aiwaph lat; D;k gS A
What is capital reserve ?

iz’u 11iz’u 11iz’u 11iz’u 11 &&&& gzkl dh nj ds lkFk okf"kZd ’kCn dk egRo crkb;s Agzkl dh nj ds lkFk okf"kZd ’kCn dk egRo crkb;s Agzkl dh nj ds lkFk okf"kZd ’kCn dk egRo crkb;s Agzkl dh nj ds lkFk okf"kZd ’kCn dk egRo crkb;s A
What is  the  importance  of  the word per annum  along with rate of
depreciation.

iz’u 12iz’u 12iz’u 12iz’u 12 &&&& ewY; gzkl dh LFkk;h fd’r i)fr vkSj ?kVrh fd’r i)fr esa varj nhft,AewY; gzkl dh LFkk;h fd’r i)fr vkSj ?kVrh fd’r i)fr esa varj nhft,AewY; gzkl dh LFkk;h fd’r i)fr vkSj ?kVrh fd’r i)fr esa varj nhft,AewY; gzkl dh LFkk;h fd’r i)fr vkSj ?kVrh fd’r i)fr esa varj nhft,A
Differentiate between Fixed Instalment method and Reducing balance
method ? (Any three)

iz’u 13iz’u 13iz’u 13iz’u 13 &&&& va’kksa ds fuxZeu dh fof/k dks le>kb;s Ava’kksa ds fuxZeu dh fof/k dks le>kb;s Ava’kksa ds fuxZeu dh fof/k dks le>kb;s Ava’kksa ds fuxZeu dh fof/k dks le>kb;s A
What is the proceedure of issue of shares ?

iz’u 14iz’u 14iz’u 14iz’u 14 &&&& ABC fyfe- daiuh us ,d Hkou 2]20]000 :- esa [kjhnk ftlds Hkqxrkufyfe- daiuh us ,d Hkou 2]20]000 :- esa [kjhnk ftlds Hkqxrkufyfe- daiuh us ,d Hkou 2]20]000 :- esa [kjhnk ftlds Hkqxrkufyfe- daiuh us ,d Hkou 2]20]000 :- esa [kjhnk ftlds Hkqxrku
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Lo:i 100 :- okys va’k 20 izfr’kr izhfe;e ij fuxZfer fd;s A daiuh dhLo:i 100 :- okys va’k 20 izfr’kr izhfe;e ij fuxZfer fd;s A daiuh dhLo:i 100 :- okys va’k 20 izfr’kr izhfe;e ij fuxZfer fd;s A daiuh dhLo:i 100 :- okys va’k 20 izfr’kr izhfe;e ij fuxZfer fd;s A daiuh dh
iqLrdksa esa vko’;d izfof"V;ka nhft, AiqLrdksa esa vko’;d izfof"V;ka nhft, AiqLrdksa esa vko’;d izfof"V;ka nhft, AiqLrdksa esa vko’;d izfof"V;ka nhft, A
ABC Co. Ltd. Purchased a Building for  Rs. 2,20,000. The payment of pur-
chase price was made through shares of Rs. 100 each issued at 10% pre-
mium. Show necessary journal entries in the books ?

iz’u 15iz’u 15iz’u 15iz’u 15 &&&& fuEu lwpukvksa ds vk/kkj ij 31 ekpZ 2003 dks lekIr o"kZ ds fy, ^^jk;iqjfuEu lwpukvksa ds vk/kkj ij 31 ekpZ 2003 dks lekIr o"kZ ds fy, ^^jk;iqjfuEu lwpukvksa ds vk/kkj ij 31 ekpZ 2003 dks lekIr o"kZ ds fy, ^^jk;iqjfuEu lwpukvksa ds vk/kkj ij 31 ekpZ 2003 dks lekIr o"kZ ds fy, ^^jk;iqj
Dyc** dk izkfIr Hkqxrku [kkrk rS;kj dhft, ADyc** dk izkfIr Hkqxrku [kkrk rS;kj dhft, ADyc** dk izkfIr Hkqxrku [kkrk rS;kj dhft, ADyc** dk izkfIr Hkqxrku [kkrk rS;kj dhft, A
gkFk esa jksdM+ ¼1-04-02½ 5]850 :] izos’k ’kqYd 3]000 :-] nku izkIr 10]000gkFk esa jksdM+ ¼1-04-02½ 5]850 :] izos’k ’kqYd 3]000 :-] nku izkIr 10]000gkFk esa jksdM+ ¼1-04-02½ 5]850 :] izos’k ’kqYd 3]000 :-] nku izkIr 10]000gkFk esa jksdM+ ¼1-04-02½ 5]850 :] izos’k ’kqYd 3]000 :-] nku izkIr 10]000
:-] pank izkIr 26]500 :- xr o"kZ dk pank izkIr 3]600 :-] lnL;rk ’kqYd:-] pank izkIr 26]500 :- xr o"kZ dk pank izkIr 3]600 :-] lnL;rk ’kqYd:-] pank izkIr 26]500 :- xr o"kZ dk pank izkIr 3]600 :-] lnL;rk ’kqYd:-] pank izkIr 26]500 :- xr o"kZ dk pank izkIr 3]600 :-] lnL;rk ’kqYd
5]000 :-] osru fn;k 12]000 :-] iqLrd dz; 5]000 :-] NikbZ ,oa5]000 :-] osru fn;k 12]000 :-] iqLrd dz; 5]000 :-] NikbZ ,oa5]000 :-] osru fn;k 12]000 :-] iqLrd dz; 5]000 :-] NikbZ ,oa5]000 :-] osru fn;k 12]000 :-] iqLrd dz; 5]000 :-] NikbZ ,oa
LVs’kujh 1]200 :- Mkd [kpZ 450 :-] Mªkek ij O;; 2]400 :-] LoYikgkjLVs’kujh 1]200 :- Mkd [kpZ 450 :-] Mªkek ij O;; 2]400 :-] LoYikgkjLVs’kujh 1]200 :- Mkd [kpZ 450 :-] Mªkek ij O;; 2]400 :-] LoYikgkjLVs’kujh 1]200 :- Mkd [kpZ 450 :-] Mªkek ij O;; 2]400 :-] LoYikgkj
dk fodz; 8]000] LoYikgkj ij O;; 5]500 :- ykbfVax ij O;; 1]300 :-dk fodz; 8]000] LoYikgkj ij O;; 5]500 :- ykbfVax ij O;; 1]300 :-dk fodz; 8]000] LoYikgkj ij O;; 5]500 :- ykbfVax ij O;; 1]300 :-dk fodz; 8]000] LoYikgkj ij O;; 5]500 :- ykbfVax ij O;; 1]300 :-
izfr;ksfxrk ds iqjLdkj ij O;; 5]100 :-] Mªkek fVdVksa dh fcØh 16]000:-izfr;ksfxrk ds iqjLdkj ij O;; 5]100 :-] Mªkek fVdVksa dh fcØh 16]000:-izfr;ksfxrk ds iqjLdkj ij O;; 5]100 :-] Mªkek fVdVksa dh fcØh 16]000:-izfr;ksfxrk ds iqjLdkj ij O;; 5]100 :-] Mªkek fVdVksa dh fcØh 16]000:-
From the following particulars prepare receipts and payments A/c. of
‘Raipur Club’ for the year ended 31 March 2003.
Cash Balance (1.4.2002) 5850, Entry fee for Rs. 3000, Donation received
Rs. 10,000, Subscription current year 26500, for previous year 3600, En-
trance fee - 5,000, Salary paid - 12,000, Books purchased - 5000, printing
and stationary - 1200, postage - 450, sale of drama tickets - 16000, in-
come from entertainment - 8000, drama exps - 2400, Entertainment exps
- 5500, lighting exps- 1300, prize distribution exps - 5100.

iz’u 16iz’u 16iz’u 16iz’u 16 &&&& ,d daiuh us 1]000] 7 izfr’kr _.ki= izR;sd dk fuxZeu 5 izfr’kr,d daiuh us 1]000] 7 izfr’kr _.ki= izR;sd dk fuxZeu 5 izfr’kr,d daiuh us 1]000] 7 izfr’kr _.ki= izR;sd dk fuxZeu 5 izfr’kr,d daiuh us 1]000] 7 izfr’kr _.ki= izR;sd dk fuxZeu 5 izfr’kr
izhfe;e ij fd;k A lEiw.kZ jkf’k ,deq’r izkIr gqbZ A fuxZeu iath izfof"Vizhfe;e ij fd;k A lEiw.kZ jkf’k ,deq’r izkIr gqbZ A fuxZeu iath izfof"Vizhfe;e ij fd;k A lEiw.kZ jkf’k ,deq’r izkIr gqbZ A fuxZeu iath izfof"Vizhfe;e ij fd;k A lEiw.kZ jkf’k ,deq’r izkIr gqbZ A fuxZeu iath izfof"V
nhft, Anhft, Anhft, Anhft, A
A Company issued 1000, 7% debentures of Rs. 10 each at 5% premium.
All amount were received in lumps sum. Pass necessary journal entries.

iz’u 17iz’u 17iz’u 17iz’u 17 &&&& vfHkxksiu deh’ku ls vki D;k le>rs gS \vfHkxksiu deh’ku ls vki D;k le>rs gS \vfHkxksiu deh’ku ls vki D;k le>rs gS \vfHkxksiu deh’ku ls vki D;k le>rs gS \
What do you mean by del-credre commission ?

vFkok vFkok vFkok vFkok (OR)

_.ki=/kkjh vkSj va’k/kkjh esa rhu varj nhft, A_.ki=/kkjh vkSj va’k/kkjh esa rhu varj nhft, A_.ki=/kkjh vkSj va’k/kkjh esa rhu varj nhft, A_.ki=/kkjh vkSj va’k/kkjh esa rhu varj nhft, A
Differentiate between share holder and debenture holders ? (any three)

iz’u 18iz’u 18iz’u 18iz’u 18 &&&& ,d QeZ dk vkSlr ykHk 30]000 :- gS iwathdj.k dh nj 12 izfr’kr gS A,d QeZ dk vkSlr ykHk 30]000 :- gS iwathdj.k dh nj 12 izfr’kr gS A,d QeZ dk vkSlr ykHk 30]000 :- gS iwathdj.k dh nj 12 izfr’kr gS A,d QeZ dk vkSlr ykHk 30]000 :- gS iwathdj.k dh nj 12 izfr’kr gS A
QeZ dh fofo/k laifRr;ka vkSj nkf;Ro Øe’k% 3]25]000 :- rFkk 1]00]000QeZ dh fofo/k laifRr;ka vkSj nkf;Ro Øe’k% 3]25]000 :- rFkk 1]00]000QeZ dh fofo/k laifRr;ka vkSj nkf;Ro Øe’k% 3]25]000 :- rFkk 1]00]000QeZ dh fofo/k laifRr;ka vkSj nkf;Ro Øe’k% 3]25]000 :- rFkk 1]00]000
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:- gS A iwathd`r fof/k ls [;kfr dh x.kuk dhft, A:- gS A iwathd`r fof/k ls [;kfr dh x.kuk dhft, A:- gS A iwathd`r fof/k ls [;kfr dh x.kuk dhft, A:- gS A iwathd`r fof/k ls [;kfr dh x.kuk dhft, A
Average profit of a firm is Rs. 30,000. Rate of capitalisation is 12%. Sun-
dry assets and liabilities are resistivity Rs. 3,25,000 Rs. and Rs. 100,000.
Calculate goodwill by capitalisation method. ?

vFkok vFkok vFkok vFkok (OR)

^v*] ^c* vkSj ^l* ,d QeZ esa lk>snkj gS tks ykHk gkfu dk foHkktu 5%3%2^v*] ^c* vkSj ^l* ,d QeZ esa lk>snkj gS tks ykHk gkfu dk foHkktu 5%3%2^v*] ^c* vkSj ^l* ,d QeZ esa lk>snkj gS tks ykHk gkfu dk foHkktu 5%3%2^v*] ^c* vkSj ^l* ,d QeZ esa lk>snkj gS tks ykHk gkfu dk foHkktu 5%3%2
ds vuqikr esa djrs gS A mudh LFkk;h iwath Øe’k% 30]000 :-] 20]000 :ds vuqikr esa djrs gS A mudh LFkk;h iwath Øe’k% 30]000 :-] 20]000 :ds vuqikr esa djrs gS A mudh LFkk;h iwath Øe’k% 30]000 :-] 20]000 :ds vuqikr esa djrs gS A mudh LFkk;h iwath Øe’k% 30]000 :-] 20]000 :
rFkk 10]000 :- Fkh A o"kZ 2004 esa iwath ij C;kt 8 izfr’kr okf"kZd dsrFkk 10]000 :- Fkh A o"kZ 2004 esa iwath ij C;kt 8 izfr’kr okf"kZd dsrFkk 10]000 :- Fkh A o"kZ 2004 esa iwath ij C;kt 8 izfr’kr okf"kZd dsrFkk 10]000 :- Fkh A o"kZ 2004 esa iwath ij C;kt 8 izfr’kr okf"kZd ds
LFkku ij 10 izfr’kr okf"kZd dh nj ls lekdfyr fd;k x;k A =qfV lq/kkjLFkku ij 10 izfr’kr okf"kZd dh nj ls lekdfyr fd;k x;k A =qfV lq/kkjLFkku ij 10 izfr’kr okf"kZd dh nj ls lekdfyr fd;k x;k A =qfV lq/kkjLFkku ij 10 izfr’kr okf"kZd dh nj ls lekdfyr fd;k x;k A =qfV lq/kkj
ds fy, vko’;d lek;kstu izfof"V nhft, Ads fy, vko’;d lek;kstu izfof"V nhft, Ads fy, vko’;d lek;kstu izfof"V nhft, Ads fy, vko’;d lek;kstu izfof"V nhft, A
‘A’ ‘B’ and ‘C’ are partner sharing profits and los s in the ratio of 5 : 3 : 2
with capitals respectively 30,000, 20000, and Rs. 10,000. In the year 2004
interest on capital has been charged @ 10% P.a. instead of charging in-
terest @ 8% pass necessary adjustment entry.

iz’u 19iz’u 19iz’u 19iz’u 19 &&&& izs"kd vkSj izs"k.kh dh iqLrdksa esa dkSu&dkSu lh izfof"V;ka dh tkrh gS Aizs"kd vkSj izs"k.kh dh iqLrdksa esa dkSu&dkSu lh izfof"V;ka dh tkrh gS Aizs"kd vkSj izs"k.kh dh iqLrdksa esa dkSu&dkSu lh izfof"V;ka dh tkrh gS Aizs"kd vkSj izs"k.kh dh iqLrdksa esa dkSu&dkSu lh izfof"V;ka dh tkrh gS A
¼dksbZ pkj½¼dksbZ pkj½¼dksbZ pkj½¼dksbZ pkj½
What jounal entries are made on the books of consignor and consignee ?
(Any four)

iz’u 20iz’u 20iz’u 20iz’u 20 &&&& ,d QeZ esa ,d QeZ esa ,d QeZ esa ,d QeZ esa A, B rFkk rFkk rFkk rFkk C cjkcj ds lk>snkj gS A 31 fnlacj 2004 dks cjkcj ds lk>snkj gS A 31 fnlacj 2004 dks cjkcj ds lk>snkj gS A 31 fnlacj 2004 dks cjkcj ds lk>snkj gS A 31 fnlacj 2004 dks “B”
dh e`R;q gks xbZ A bl frfFk ij mls 20]000 :- ns; Fkk A ;g fu.kZ; fy;kdh e`R;q gks xbZ A bl frfFk ij mls 20]000 :- ns; Fkk A ;g fu.kZ; fy;kdh e`R;q gks xbZ A bl frfFk ij mls 20]000 :- ns; Fkk A ;g fu.kZ; fy;kdh e`R;q gks xbZ A bl frfFk ij mls 20]000 :- ns; Fkk A ;g fu.kZ; fy;k
x;k fd ;g jkf’k 5]000 :- dh okf"kZdh }kjk Hkqxrku dh tk,xh A izFkex;k fd ;g jkf’k 5]000 :- dh okf"kZdh }kjk Hkqxrku dh tk,xh A izFkex;k fd ;g jkf’k 5]000 :- dh okf"kZdh }kjk Hkqxrku dh tk,xh A izFkex;k fd ;g jkf’k 5]000 :- dh okf"kZdh }kjk Hkqxrku dh tk,xh A izFke
Hkqxrku 1 tuojh] 2005 dks fd;k x;k rFkk izfro"kZ vU; Hkqxrku Hkh 1Hkqxrku 1 tuojh] 2005 dks fd;k x;k rFkk izfro"kZ vU; Hkqxrku Hkh 1Hkqxrku 1 tuojh] 2005 dks fd;k x;k rFkk izfro"kZ vU; Hkqxrku Hkh 1Hkqxrku 1 tuojh] 2005 dks fd;k x;k rFkk izfro"kZ vU; Hkqxrku Hkh 1
tuojh dks fd, x, A ftl mRrjkf/kdkjh dks ;g jkf’k feyrh Fkh A 2tuojh dks fd, x, A ftl mRrjkf/kdkjh dks ;g jkf’k feyrh Fkh A 2tuojh dks fd, x, A ftl mRrjkf/kdkjh dks ;g jkf’k feyrh Fkh A 2tuojh dks fd, x, A ftl mRrjkf/kdkjh dks ;g jkf’k feyrh Fkh A 2
tuojh] 2007 dks mldh e`R;q gks xbZ A izfro"kZ vnRr jkf’k ij 6 izfr’krtuojh] 2007 dks mldh e`R;q gks xbZ A izfro"kZ vnRr jkf’k ij 6 izfr’krtuojh] 2007 dks mldh e`R;q gks xbZ A izfro"kZ vnRr jkf’k ij 6 izfr’krtuojh] 2007 dks mldh e`R;q gks xbZ A izfro"kZ vnRr jkf’k ij 6 izfr’kr
okf"kZdh nj ls C;kt dh x.kuk dh tkrh gS A okf"kZdh mpUr [kkrk cukb;sAokf"kZdh nj ls C;kt dh x.kuk dh tkrh gS A okf"kZdh mpUr [kkrk cukb;sAokf"kZdh nj ls C;kt dh x.kuk dh tkrh gS A okf"kZdh mpUr [kkrk cukb;sAokf"kZdh nj ls C;kt dh x.kuk dh tkrh gS A okf"kZdh mpUr [kkrk cukb;sA
A, B and C are equal partner in a firm. On 31.12.2004 B died. On this
date, the amount due to him Rs. 20,000. A and C decided to give this amount
by annuities of Rs. 5000 per year along with interest @ 6% p.a. The first
instalment was paid on 1.1.2005 and the remaining amount paid on 1st
January every year. The legal representative died on 2 January 2007
prepare Annuity snspense A/c.

iz’u 21iz’u 21iz’u 21iz’u 21 &&&& lk>snkjh lays[k ds vHkko esa lk>snkjh ds fdUgha pkj fu;eksa dk mYys[klk>snkjh lays[k ds vHkko esa lk>snkjh ds fdUgha pkj fu;eksa dk mYys[klk>snkjh lays[k ds vHkko esa lk>snkjh ds fdUgha pkj fu;eksa dk mYys[klk>snkjh lays[k ds vHkko esa lk>snkjh ds fdUgha pkj fu;eksa dk mYys[k
djk sAdjk sAdjk sAdjk sA
What are the rules application in absence of partnership deed ? (any four)
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iz’u 22iz’u 22iz’u 22iz’u 22 &&&& la;qDr lkgl [kkrk D;k gS Ala;qDr lkgl [kkrk D;k gS Ala;qDr lkgl [kkrk D;k gS Ala;qDr lkgl [kkrk D;k gS A
What is Joint Venture A/c.

iz’u 23iz’u 23iz’u 23iz’u 23 &&&& ,d e’khu ij nks o"kksZ rd 10 izfr’kr dh nj ls LFkk;h fd’r i)fr }kjk,d e’khu ij nks o"kksZ rd 10 izfr’kr dh nj ls LFkk;h fd’r i)fr }kjk,d e’khu ij nks o"kksZ rd 10 izfr’kr dh nj ls LFkk;h fd’r i)fr }kjk,d e’khu ij nks o"kksZ rd 10 izfr’kr dh nj ls LFkk;h fd’r i)fr }kjk
ewY; gzkl yxk;k x;k tks 1 tuojh 1990 dks 10]000 :- esa Ø; fd;k x;kewY; gzkl yxk;k x;k tks 1 tuojh 1990 dks 10]000 :- esa Ø; fd;k x;kewY; gzkl yxk;k x;k tks 1 tuojh 1990 dks 10]000 :- esa Ø; fd;k x;kewY; gzkl yxk;k x;k tks 1 tuojh 1990 dks 10]000 :- esa Ø; fd;k x;k
Fkk A 1 tuojh] 1992 dks e’khu dh Ø; frfFk ls gh gzkleku ’ks"k i)frFkk A 1 tuojh] 1992 dks e’khu dh Ø; frfFk ls gh gzkleku ’ks"k i)frFkk A 1 tuojh] 1992 dks e’khu dh Ø; frfFk ls gh gzkleku ’ks"k i)frFkk A 1 tuojh] 1992 dks e’khu dh Ø; frfFk ls gh gzkleku ’ks"k i)fr
dks viukus dk fu’p; fd;k x;k A ewY;gzkl dh nj 15 izfr’kr j[kh xbZAdks viukus dk fu’p; fd;k x;k A ewY;gzkl dh nj 15 izfr’kr j[kh xbZAdks viukus dk fu’p; fd;k x;k A ewY;gzkl dh nj 15 izfr’kr j[kh xbZAdks viukus dk fu’p; fd;k x;k A ewY;gzkl dh nj 15 izfr’kr j[kh xbZA
1990 ls 1992 rd e’khu [kkrk rS;kj dhft, A1990 ls 1992 rd e’khu [kkrk rS;kj dhft, A1990 ls 1992 rd e’khu [kkrk rS;kj dhft, A1990 ls 1992 rd e’khu [kkrk rS;kj dhft, A
On 1.1.1990 A Machine was purchased for Rs. 10000. Depreciation was
charged @ 10% p.a. on Fixed instalment method. On 1.1.1992 the firm
decided to change the method to reducing balance method @15% p.a.
prepare machinery A/c from 1990 in 1992

vFkok vFkok vFkok vFkok (OR)

,d QeZ dh iqLrdksa es a1 tuojh 1990 dks e’khu [kkrs dk ’ks"k 26]840 :-,d QeZ dh iqLrdksa es a1 tuojh 1990 dks e’khu [kkrs dk ’ks"k 26]840 :-,d QeZ dh iqLrdksa es a1 tuojh 1990 dks e’khu [kkrs dk ’ks"k 26]840 :-,d QeZ dh iqLrdksa es a1 tuojh 1990 dks e’khu [kkrs dk ’ks"k 26]840 :-
Fkk A ml o"kZ ,d e’khusa tks fglkc dh iqLrdksa esa 1]286 :- dh Fkh 600Fkk A ml o"kZ ,d e’khusa tks fglkc dh iqLrdksa esa 1]286 :- dh Fkh 600Fkk A ml o"kZ ,d e’khusa tks fglkc dh iqLrdksa esa 1]286 :- dh Fkh 600Fkk A ml o"kZ ,d e’khusa tks fglkc dh iqLrdksa esa 1]286 :- dh Fkh 600
:- esa csp nh xbZ A 1 vizsy 1990 dks ,d e’khu 5]880 :- esa [kjhnh]:- esa csp nh xbZ A 1 vizsy 1990 dks ,d e’khu 5]880 :- esa [kjhnh]:- esa csp nh xbZ A 1 vizsy 1990 dks ,d e’khu 5]880 :- esa [kjhnh]:- esa csp nh xbZ A 1 vizsy 1990 dks ,d e’khu 5]880 :- esa [kjhnh]
ftlds LFkkiuk ij 216 :- O;; fd;s Aftlds LFkkiuk ij 216 :- O;; fd;s Aftlds LFkkiuk ij 216 :- O;; fd;s Aftlds LFkkiuk ij 216 :- O;; fd;s A
QeZ ?kVrh ’ks"k i)fr ij ewY;gzkl yxkrh gS A gzkl dh nj ubZ e’khu ijQeZ ?kVrh ’ks"k i)fr ij ewY;gzkl yxkrh gS A gzkl dh nj ubZ e’khu ijQeZ ?kVrh ’ks"k i)fr ij ewY;gzkl yxkrh gS A gzkl dh nj ubZ e’khu ijQeZ ?kVrh ’ks"k i)fr ij ewY;gzkl yxkrh gS A gzkl dh nj ubZ e’khu ij
10 izfr’kr rFkk iqjkus e’khu ij 15 izfr’kr gS A o"kZ 1990 dk e’khu [kkrk10 izfr’kr rFkk iqjkus e’khu ij 15 izfr’kr gS A o"kZ 1990 dk e’khu [kkrk10 izfr’kr rFkk iqjkus e’khu ij 15 izfr’kr gS A o"kZ 1990 dk e’khu [kkrk10 izfr’kr rFkk iqjkus e’khu ij 15 izfr’kr gS A o"kZ 1990 dk e’khu [kkrk
cukb;s Acukb;s Acukb;s Acukb;s A
On 1.1.1990 the machinary a/c of a firm showed a balance of Rs. 26840.
On 31.12.1990 one machine costing Rs. 1286 on 1.1.1990 was sold for Rs.
600. On 1.4.1990 a new machinary was purchesd for Rs. 5880 and paid Rs.
216 for establishment charges. Charge depreciation on reducing balance
@ 10% on new machine and 15% on old machine. Prepare machinary A/
c for the year 1990.

iz’u 24iz’u 24iz’u 24iz’u 24 &&&& iz’kkar rFkk fu’kkar us leku vuqikr esa ykHk&gkfu foHkktu ds lkFk la;qDriz’kkar rFkk fu’kkar us leku vuqikr esa ykHk&gkfu foHkktu ds lkFk la;qDriz’kkar rFkk fu’kkar us leku vuqikr esa ykHk&gkfu foHkktu ds lkFk la;qDriz’kkar rFkk fu’kkar us leku vuqikr esa ykHk&gkfu foHkktu ds lkFk la;qDr
lkgl esa izos’k fd;k A fuEu O;ogkj gq, &lkgl esa izos’k fd;k A fuEu O;ogkj gq, &lkgl esa izos’k fd;k A fuEu O;ogkj gq, &lkgl esa izos’k fd;k A fuEu O;ogkj gq, &
¼¼¼¼ i ½½½½ iz’kkar ,oa fu’kkar us Øe’k% 80]000 : rFkk 65]000 :- ,d la;qDriz’kkar ,oa fu’kkar us Øe’k% 80]000 : rFkk 65]000 :- ,d la;qDriz’kkar ,oa fu’kkar us Øe’k% 80]000 : rFkk 65]000 :- ,d la;qDriz’kkar ,oa fu’kkar us Øe’k% 80]000 : rFkk 65]000 :- ,d la;qDr
cSad [kkrs esa tek fd, A ¼cSad [kkrs esa tek fd, A ¼cSad [kkrs esa tek fd, A ¼cSad [kkrs esa tek fd, A ¼ii ½ eky [kjhnk 82]000 :- ¼½ eky [kjhnk 82]000 :- ¼½ eky [kjhnk 82]000 :- ¼½ eky [kjhnk 82]000 :- ¼iii ½ O;;ksa dk Hkqxrku½ O;;ksa dk Hkqxrku½ O;;ksa dk Hkqxrku½ O;;ksa dk Hkqxrku
fd;k 2]800 :- ¼fd;k 2]800 :- ¼fd;k 2]800 :- ¼fd;k 2]800 :- ¼iv½ eky cspk 84]000:- ¼½ eky cspk 84]000:- ¼½ eky cspk 84]000:- ¼½ eky cspk 84]000:- ¼v½ Lda/k 4]100 :- ij ewY;kafdr½ Lda/k 4]100 :- ij ewY;kafdr½ Lda/k 4]100 :- ij ewY;kafdr½ Lda/k 4]100 :- ij ewY;kafdr
fd;k ftls iz’kkar us fy;k A mijksDr O;ogkjks a ls la;qDr lkgl [kkrkfd;k ftls iz’kkar us fy;k A mijksDr O;ogkjks a ls la;qDr lkgl [kkrkfd;k ftls iz’kkar us fy;k A mijksDr O;ogkjks a ls la;qDr lkgl [kkrkfd;k ftls iz’kkar us fy;k A mijksDr O;ogkjks a ls la;qDr lkgl [kkrk
cukb;s Acukb;s Acukb;s Acukb;s A
Prashant and Nishant are equal partners entered in Joint venture. Their
transaction are given below -
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1. Deposited in joint Bank A/c - Prashant Rs. 80,000 and Nishant Rs.
65,000.

2. Goods purchesed Rs. 82,000.
3. Expenses paid Rs. 2800
4. Goods sold Rs. 84000.
5. Stock valued of Rs. 4,100 and it was taken by prashant.

Prepare joint venture A/c.

vFkok vFkok vFkok vFkok (OR)

jke vkSj ’;ke us la;qDr lkgl ds :i esa oLrqvksa ds Ø;&foØ; djus rFkkjke vkSj ’;ke us la;qDr lkgl ds :i esa oLrqvksa ds Ø;&foØ; djus rFkkjke vkSj ’;ke us la;qDr lkgl ds :i esa oLrqvksa ds Ø;&foØ; djus rFkkjke vkSj ’;ke us la;qDr lkgl ds :i esa oLrqvksa ds Ø;&foØ; djus rFkk
mldh ykHk gkfu dks 2%3 ds vuqikr esa ckaVus dk le>kSrk fd;k A jke usmldh ykHk gkfu dks 2%3 ds vuqikr esa ckaVus dk le>kSrk fd;k A jke usmldh ykHk gkfu dks 2%3 ds vuqikr esa ckaVus dk le>kSrk fd;k A jke usmldh ykHk gkfu dks 2%3 ds vuqikr esa ckaVus dk le>kSrk fd;k A jke us
la;qDr lkgl ds fy, 40]000 :- dh oLrq,a Ø; dh vkSj 2]000 :- O;; dsla;qDr lkgl ds fy, 40]000 :- dh oLrq,a Ø; dh vkSj 2]000 :- O;; dsla;qDr lkgl ds fy, 40]000 :- dh oLrq,a Ø; dh vkSj 2]000 :- O;; dsla;qDr lkgl ds fy, 40]000 :- dh oLrq,a Ø; dh vkSj 2]000 :- O;; ds
pqdk, A ’;ke us Hkh 30]000 :- dh oLrq,a [kjhnk vkSj O;; ds 5]000 :-pqdk, A ’;ke us Hkh 30]000 :- dh oLrq,a [kjhnk vkSj O;; ds 5]000 :-pqdk, A ’;ke us Hkh 30]000 :- dh oLrq,a [kjhnk vkSj O;; ds 5]000 :-pqdk, A ’;ke us Hkh 30]000 :- dh oLrq,a [kjhnk vkSj O;; ds 5]000 :-
Hkqxrku fd, AHkqxrku fd, AHkqxrku fd, AHkqxrku fd, A
jke us Ø; fd;s x, lHkh oLrqvksa dks 96]000 :- esa csp fn;k A jke dksjke us Ø; fd;s x, lHkh oLrqvksa dks 96]000 :- esa csp fn;k A jke dksjke us Ø; fd;s x, lHkh oLrqvksa dks 96]000 :- esa csp fn;k A jke dksjke us Ø; fd;s x, lHkh oLrqvksa dks 96]000 :- esa csp fn;k A jke dks
le>kSrs ds vuqlkj dqy foØ; ij 10 izfr’kr izkIr djus dk vf/kdkj gS Ale>kSrs ds vuqlkj dqy foØ; ij 10 izfr’kr izkIr djus dk vf/kdkj gS Ale>kSrs ds vuqlkj dqy foØ; ij 10 izfr’kr izkIr djus dk vf/kdkj gS Ale>kSrs ds vuqlkj dqy foØ; ij 10 izfr’kr izkIr djus dk vf/kdkj gS A
jke dh iqLrdksa esa vafre ’ks"k n’kkZrs gq, la;qDr lkgl [kkrk cukb;s Ajke dh iqLrdksa esa vafre ’ks"k n’kkZrs gq, la;qDr lkgl [kkrk cukb;s Ajke dh iqLrdksa esa vafre ’ks"k n’kkZrs gq, la;qDr lkgl [kkrk cukb;s Ajke dh iqLrdksa esa vafre ’ks"k n’kkZrs gq, la;qDr lkgl [kkrk cukb;s A
Ram and Shyam decided to purchase and sale of goods on joint venture .
They decided to share profit and losses in the ratio of 2 : 3. Ram purchesd
goods of Rs. 40,000 and paid expense Rs. 2000. Shyam purchesd goods of
Rs. 30,000 and paid expenses Rs. 5,000. Ram was sold all goods for Rs.
96,000. As per agrement Ram is entitled to get 10% commission on total
sales.
Prepare joint venture A/c.

iz’u 25iz’u 25iz’u 25iz’u 25 &&&& 1 tuojh 1990 dks ,d daiuh us ,d iqjkuk ;a= 24]000 :- esa [kjhnk vkSj1 tuojh 1990 dks ,d daiuh us ,d iqjkuk ;a= 24]000 :- esa [kjhnk vkSj1 tuojh 1990 dks ,d daiuh us ,d iqjkuk ;a= 24]000 :- esa [kjhnk vkSj1 tuojh 1990 dks ,d daiuh us ,d iqjkuk ;a= 24]000 :- esa [kjhnk vkSj
mldh ejEer djus esa 6]000 :- [kpZ fd;s A blh o"kZ 1 tqykbZ dks 10]000mldh ejEer djus esa 6]000 :- [kpZ fd;s A blh o"kZ 1 tqykbZ dks 10]000mldh ejEer djus esa 6]000 :- [kpZ fd;s A blh o"kZ 1 tqykbZ dks 10]000mldh ejEer djus esa 6]000 :- [kpZ fd;s A blh o"kZ 1 tqykbZ dks 10]000
:- esa nwljk ;a= [kjhnk 1 vDVwcj 1992 dks 8]000 :- esa og e’khu csp nh:- esa nwljk ;a= [kjhnk 1 vDVwcj 1992 dks 8]000 :- esa og e’khu csp nh:- esa nwljk ;a= [kjhnk 1 vDVwcj 1992 dks 8]000 :- esa og e’khu csp nh:- esa nwljk ;a= [kjhnk 1 vDVwcj 1992 dks 8]000 :- esa og e’khu csp nh
ftls 1 tuojh 1990 esa [kjhnk Fkk A lEifRr dh ewy ykxr ij 10 izfr’krftls 1 tuojh 1990 esa [kjhnk Fkk A lEifRr dh ewy ykxr ij 10 izfr’krftls 1 tuojh 1990 esa [kjhnk Fkk A lEifRr dh ewy ykxr ij 10 izfr’krftls 1 tuojh 1990 esa [kjhnk Fkk A lEifRr dh ewy ykxr ij 10 izfr’kr
izfro"kZ gzkl yxk;k tkrk Fkk A daiuh us 1991 ls gzkl djus dh bl i)frizfro"kZ gzkl yxk;k tkrk Fkk A daiuh us 1991 ls gzkl djus dh bl i)frizfro"kZ gzkl yxk;k tkrk Fkk A daiuh us 1991 ls gzkl djus dh bl i)frizfro"kZ gzkl yxk;k tkrk Fkk A daiuh us 1991 ls gzkl djus dh bl i)fr
ds LFkku ij 15 izfr’kr okf"kZd nj ij Øzekxr gzkl i)fr izkjEHk dhAds LFkku ij 15 izfr’kr okf"kZd nj ij Øzekxr gzkl i)fr izkjEHk dhAds LFkku ij 15 izfr’kr okf"kZd nj ij Øzekxr gzkl i)fr izkjEHk dhAds LFkku ij 15 izfr’kr okf"kZd nj ij Øzekxr gzkl i)fr izkjEHk dhA
1990 ls 1992 rd dk ;a= [kkrk cukb;s A1990 ls 1992 rd dk ;a= [kkrk cukb;s A1990 ls 1992 rd dk ;a= [kkrk cukb;s A1990 ls 1992 rd dk ;a= [kkrk cukb;s A
On 1.1.1990 a firm purchesed an old machine for Rs. 24000 and paid Rs.
6000 for its repairs. On 1st July in the same year they purchased another
machine for Rs. 10,000. On 1.10.1992 they sold that machine which was
purchased on 1.1.1990 for Rs. 8,000. Depreciation was changed @ 10%
p.a. under fixed instalment method. But in the year 1991 the company
decided to change the method to reducing balance method @ 15% pa.
prepare machinary A/c from 1990 to 1992.
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iz’u 26iz’u 26iz’u 26iz’u 26 &&&& jk;x<+ ds lksgu vkSj fcykliqj ds jes’k eky ds izs"k.k ds fy, la;qDrjk;x<+ ds lksgu vkSj fcykliqj ds jes’k eky ds izs"k.k ds fy, la;qDrjk;x<+ ds lksgu vkSj fcykliqj ds jes’k eky ds izs"k.k ds fy, la;qDrjk;x<+ ds lksgu vkSj fcykliqj ds jes’k eky ds izs"k.k ds fy, la;qDr
lkgl izkjaHk djrs gS A la;qDr lkgl dh ykHk gkfu 3 % 1 esa ckaVk tkrk gSAlkgl izkjaHk djrs gS A la;qDr lkgl dh ykHk gkfu 3 % 1 esa ckaVk tkrk gSAlkgl izkjaHk djrs gS A la;qDr lkgl dh ykHk gkfu 3 % 1 esa ckaVk tkrk gSAlkgl izkjaHk djrs gS A la;qDr lkgl dh ykHk gkfu 3 % 1 esa ckaVk tkrk gSA
bl laca/k esa fuEu O;ogkj gq, Abl laca/k esa fuEu O;ogkj gq, Abl laca/k esa fuEu O;ogkj gq, Abl laca/k esa fuEu O;ogkj gq, A
lksgu us 40]000 :- dk eky [kjhnk vkSj bls fcykliqj ds jes’k dks foØ;lksgu us 40]000 :- dk eky [kjhnk vkSj bls fcykliqj ds jes’k dks foØ;lksgu us 40]000 :- dk eky [kjhnk vkSj bls fcykliqj ds jes’k dks foØ;lksgu us 40]000 :- dk eky [kjhnk vkSj bls fcykliqj ds jes’k dks foØ;
gsrq izsf"kr dj fn;k A mUgksaus izs"k.k ij 800 :- rFkk 600 :- vU; O;; dsgsrq izsf"kr dj fn;k A mUgksaus izs"k.k ij 800 :- rFkk 600 :- vU; O;; dsgsrq izsf"kr dj fn;k A mUgksaus izs"k.k ij 800 :- rFkk 600 :- vU; O;; dsgsrq izsf"kr dj fn;k A mUgksaus izs"k.k ij 800 :- rFkk 600 :- vU; O;; ds
fn, A eky izkIr gksus ij jes’k us 400 :- pqaxh O;; ds pqdk, A mUgksausfn, A eky izkIr gksus ij jes’k us 400 :- pqaxh O;; ds pqdk, A mUgksausfn, A eky izkIr gksus ij jes’k us 400 :- pqaxh O;; ds pqdk, A mUgksausfn, A eky izkIr gksus ij jes’k us 400 :- pqaxh O;; ds pqdk, A mUgksaus
laiw.kZ eky 52]000 :- esa csp fn;k ftl ij 200 :- nykyh nh xbZ Alaiw.kZ eky 52]000 :- esa csp fn;k ftl ij 200 :- nykyh nh xbZ Alaiw.kZ eky 52]000 :- esa csp fn;k ftl ij 200 :- nykyh nh xbZ Alaiw.kZ eky 52]000 :- esa csp fn;k ftl ij 200 :- nykyh nh xbZ A
mi;qZDr O;ogkj ls Lej.kkRed la;qDr lkgl [kkrk cukb;s Ami;qZDr O;ogkj ls Lej.kkRed la;qDr lkgl [kkrk cukb;s Ami;qZDr O;ogkj ls Lej.kkRed la;qDr lkgl [kkrk cukb;s Ami;qZDr O;ogkj ls Lej.kkRed la;qDr lkgl [kkrk cukb;s A
Sohan of Raigarh and Ramesh of Bilaspur started a joint venture. The
profit and loss shared in the ratio 3 : 1. The transactions related to joint
venture is as follows - Sohan purchesed goods for Rs. 40,000 and send to
Ramesh for sale. They spend Rs. 800 for cartage and Rs. 600 for other
expenses. Ramesh paid Rs. 400 for octroi and received the goods. He sold
all goods for 5200 and paid Rs. 200 for brokerage. Prepare memorandum
joint venture A/c from the above information.

iz’u 27iz’u 27iz’u 27iz’u 27 &&&& ‘A’ us us us us ‘B’  dks 6]000 :- dk eky izs"k.k ij Hkstk vkSj ml ij 5]000:- dk dks 6]000 :- dk eky izs"k.k ij Hkstk vkSj ml ij 5]000:- dk dks 6]000 :- dk eky izs"k.k ij Hkstk vkSj ml ij 5]000:- dk dks 6]000 :- dk eky izs"k.k ij Hkstk vkSj ml ij 5]000:- dk
,d foi= fy[kk ftls ,d foi= fy[kk ftls ,d foi= fy[kk ftls ,d foi= fy[kk ftls ‘B’  us Lohdkj dj fy;k A  us Lohdkj dj fy;k A  us Lohdkj dj fy;k A  us Lohdkj dj fy;k A ‘A’  us 500 :- izs"k.k esa us 500 :- izs"k.k esa us 500 :- izs"k.k esa us 500 :- izs"k.k esa
[kpZ fd, rFkk [kpZ fd, rFkk [kpZ fd, rFkk [kpZ fd, rFkk ‘B’  us 300 :- pqaxh nsdj eky izkIr fd;k A  us 300 :- pqaxh nsdj eky izkIr fd;k A  us 300 :- pqaxh nsdj eky izkIr fd;k A  us 300 :- pqaxh nsdj eky izkIr fd;k A ‘B’  us vk/kk us vk/kk us vk/kk us vk/kk
eky 4]500 :- esa m/kkj rFkk ’ks"k dk vk/kk 2]200 :- esa udn csp fn;kAeky 4]500 :- esa m/kkj rFkk ’ks"k dk vk/kk 2]200 :- esa udn csp fn;kAeky 4]500 :- esa m/kkj rFkk ’ks"k dk vk/kk 2]200 :- esa udn csp fn;kAeky 4]500 :- esa m/kkj rFkk ’ks"k dk vk/kk 2]200 :- esa udn csp fn;kA
izs"kd izs"kd izs"kd izs"kd ‘B’  dks 5 izfr’kr deh’ku ,oa 2 izfr’kr ifj’kks/k deh’ku nsrk gSA dks 5 izfr’kr deh’ku ,oa 2 izfr’kr ifj’kks/k deh’ku nsrk gSA dks 5 izfr’kr deh’ku ,oa 2 izfr’kr ifj’kks/k deh’ku nsrk gSA dks 5 izfr’kr deh’ku ,oa 2 izfr’kr ifj’kks/k deh’ku nsrk gSA
‘B’  us foi= ds Hkqxrku ds lkFk gh laiw.kZ Hkqxrku dj fn;k A us foi= ds Hkqxrku ds lkFk gh laiw.kZ Hkqxrku dj fn;k A us foi= ds Hkqxrku ds lkFk gh laiw.kZ Hkqxrku dj fn;k A us foi= ds Hkqxrku ds lkFk gh laiw.kZ Hkqxrku dj fn;k A
izs"kd dh iqLrdksa esa fuEu [krk cukb;s Aizs"kd dh iqLrdksa esa fuEu [krk cukb;s Aizs"kd dh iqLrdksa esa fuEu [krk cukb;s Aizs"kd dh iqLrdksa esa fuEu [krk cukb;s A
¼¼¼¼ i ½½½½ iz s"k.k [kkrkiz s"k.k [kkrkiz s"k.k [kkrkiz s"k.k [kkrk ¼¼¼¼ i i ½½½½ iz s"k.kh [kkrkiz s"k.kh [kkrkiz s"k.kh [kkrkiz s"k.kh [kkrk
A sent goods to B on consignment for Rs. 6000 and B accepted a bill for
Rs. 5000. A spent Rs. 500 for exps. On consignment and B paid Rs. 300 for
octroi. B sold half goods for Rs. 4500 on credit and held of the remaining
for Rs. 2200 for cash. The consignor paid to B 5% ordinary commission
and 2% del-credere commission. The consignee paid the balance amount
and bill amount. Prepare consignment A/c and consignee’s accounts in
the books of consignor.

vFkok vFkok vFkok vFkok (OR)

vklke Vh daiuh us 50 isVh dkWQh ftldh ykxr 5]000 :- gS] jk;iqj dsvklke Vh daiuh us 50 isVh dkWQh ftldh ykxr 5]000 :- gS] jk;iqj dsvklke Vh daiuh us 50 isVh dkWQh ftldh ykxr 5]000 :- gS] jk;iqj dsvklke Vh daiuh us 50 isVh dkWQh ftldh ykxr 5]000 :- gS] jk;iqj ds
izfrfuf/k ’;ke ctkt dks izs"k.k ij Hksth A ekxZ esa 2 isfV;ka u"V gks xbZizfrfuf/k ’;ke ctkt dks izs"k.k ij Hksth A ekxZ esa 2 isfV;ka u"V gks xbZizfrfuf/k ’;ke ctkt dks izs"k.k ij Hksth A ekxZ esa 2 isfV;ka u"V gks xbZizfrfuf/k ’;ke ctkt dks izs"k.k ij Hksth A ekxZ esa 2 isfV;ka u"V gks xbZ
ftudk nkok chek daiuh Lohdkj dj ysrh gS A eky u"V gksus ds iwoZ 800ftudk nkok chek daiuh Lohdkj dj ysrh gS A eky u"V gksus ds iwoZ 800ftudk nkok chek daiuh Lohdkj dj ysrh gS A eky u"V gksus ds iwoZ 800ftudk nkok chek daiuh Lohdkj dj ysrh gS A eky u"V gksus ds iwoZ 800
:- rFkk ckn esa 1]900 :- O;; fd;s gSa] tks fcØh O;; ugha gS A mUgksaus 28:- rFkk ckn esa 1]900 :- O;; fd;s gSa] tks fcØh O;; ugha gS A mUgksaus 28:- rFkk ckn esa 1]900 :- O;; fd;s gSa] tks fcØh O;; ugha gS A mUgksaus 28:- rFkk ckn esa 1]900 :- O;; fd;s gSa] tks fcØh O;; ugha gS A mUgksaus 28
isfV;ka 7]000 :- esa csp nh A izfrfuf/k dqy foØ; ij 5 izfr’kr deh’kuisfV;ka 7]000 :- esa csp nh A izfrfuf/k dqy foØ; ij 5 izfr’kr deh’kuisfV;ka 7]000 :- esa csp nh A izfrfuf/k dqy foØ; ij 5 izfr’kr deh’kuisfV;ka 7]000 :- esa csp nh A izfrfuf/k dqy foØ; ij 5 izfr’kr deh’ku
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ikus dk vf/kdkjh gS A izs"kd dh iqLrdksa esa izs"k.k [kkrk cukb;s ,oa izs"k.kikus dk vf/kdkjh gS A izs"kd dh iqLrdksa esa izs"k.k [kkrk cukb;s ,oa izs"k.kikus dk vf/kdkjh gS A izs"kd dh iqLrdksa esa izs"k.k [kkrk cukb;s ,oa izs"k.kikus dk vf/kdkjh gS A izs"kd dh iqLrdksa esa izs"k.k [kkrk cukb;s ,oa izs"k.k
Lda/k dh x.kuk n’kkZb, ALda/k dh x.kuk n’kkZb, ALda/k dh x.kuk n’kkZb, ALda/k dh x.kuk n’kkZb, A

Assam Tea company send 50 cases of Tea costing Rs. 5000 to Shyam Bajaj
of Raipur. During transit 2 boxes were lost and insurance company ad-
mitted the claim. Rs. 800 ware spend before loss and Rs. 1900 after the
loss, which is not a selling expenses. The consignee sold 28 boxes for Rs.
7000. The consignee is entitled to get 5% commission on total sales. Pre-
pare consignment A/c and calculate the value of consignment Stock.

iz’u 28iz’u 28iz’u 28iz’u 28 &&&& ‘X’ , ‘Y’ ,oa ,oa ,oa ,oa ‘Z’  ,d QeZ esa lk>snkj gS vkSj ykHk gkfu 3%2%1 ds vuqikr esa ,d QeZ esa lk>snkj gS vkSj ykHk gkfu 3%2%1 ds vuqikr esa ,d QeZ esa lk>snkj gS vkSj ykHk gkfu 3%2%1 ds vuqikr esa ,d QeZ esa lk>snkj gS vkSj ykHk gkfu 3%2%1 ds vuqikr esa
foHkkftr djrs gS A mUgksaus 31 fnlacj 2007 dks QeZ dk fo?kVu fd;k blfoHkkftr djrs gS A mUgksaus 31 fnlacj 2007 dks QeZ dk fo?kVu fd;k blfoHkkftr djrs gS A mUgksaus 31 fnlacj 2007 dks QeZ dk fo?kVu fd;k blfoHkkftr djrs gS A mUgksaus 31 fnlacj 2007 dks QeZ dk fo?kVu fd;k bl
frfFk ij QeZ dk fpV~Bk bl izdkj Fkk &frfFk ij QeZ dk fpV~Bk bl izdkj Fkk &frfFk ij QeZ dk fpV~Bk bl izdkj Fkk &frfFk ij QeZ dk fpV~Bk bl izdkj Fkk &

laifRr;ksa ls muds iqLr ewY; ls 10 izfr’kr de olwy gq,] ysunkjksa dks iw.kZlaifRr;ksa ls muds iqLr ewY; ls 10 izfr’kr de olwy gq,] ysunkjksa dks iw.kZlaifRr;ksa ls muds iqLr ewY; ls 10 izfr’kr de olwy gq,] ysunkjksa dks iw.kZlaifRr;ksa ls muds iqLr ewY; ls 10 izfr’kr de olwy gq,] ysunkjksa dks iw.kZ
Hkqxrku fd;k x;kA lekiu O;; 1]000 :- pqdk, A ,d lafnX/k nkf;Ro]Hkqxrku fd;k x;kA lekiu O;; 1]000 :- pqdk, A ,d lafnX/k nkf;Ro]Hkqxrku fd;k x;kA lekiu O;; 1]000 :- pqdk, A ,d lafnX/k nkf;Ro]Hkqxrku fd;k x;kA lekiu O;; 1]000 :- pqdk, A ,d lafnX/k nkf;Ro]
ftldh iqLrdksa esa dksbZ O;oLFkk ugha Fkh] ds fy, 1]000 :- Hkqxrku fd,Aftldh iqLrdksa esa dksbZ O;oLFkk ugha Fkh] ds fy, 1]000 :- Hkqxrku fd,Aftldh iqLrdksa esa dksbZ O;oLFkk ugha Fkh] ds fy, 1]000 :- Hkqxrku fd,Aftldh iqLrdksa esa dksbZ O;oLFkk ugha Fkh] ds fy, 1]000 :- Hkqxrku fd,A
olwyh [kkrk ,oa lk>snkjksa ds iwath [kkrk cukb;s Aolwyh [kkrk ,oa lk>snkjksa ds iwath [kkrk cukb;s Aolwyh [kkrk ,oa lk>snkjksa ds iwath [kkrk cukb;s Aolwyh [kkrk ,oa lk>snkjksa ds iwath [kkrk cukb;s A
X, Y and Z are partners in a firm sharing profits in the ratio of 3 : 2 : 1. On
31.12.2007 they decided to dissolve the firm. The balance sheet on that
date is as under -

nkf;Ronkf;Ronkf;Ronkf;Ro jkf’kjkf’kjkf’kjkf’k l aifRrlaifRrlaifRrlaifRr jkf’kjkf’kjkf’kjkf’k

ysunkjysunkjysunkjysunkj 1]20]0001]20]0001]20]0001]20]000 LFkk;h laifRr;kaLFkk;h laifRr;kaLFkk;h laifRr;kaLFkk;h laifRr;ka 2]00]0002]00]0002]00]0002]00]000

iwath &iwath &iwath &iwath & pkyw laifRr;kapkyw laifRr;kapkyw laifRr;kapkyw laifRr;ka 80]00080]00080]00080]000

X 60]000 60]000 60]000 60]000 jksdM+jk sdM+jk sdM+jk sdM+ 20]00020]00020]00020]000

Y 60]000 60]000 60]000 60]000

Z 60]000 60]000 60]000 60]000 1]80]0001]80]0001]80]0001]80]000

3]00]0003]00]0003]00]0003]00]000 3]00]0003]00]0003]00]0003]00]000

Liability Amt. Assets. Amt.

Creditors 1,20,000 Fixed Assets 2,00,000

Capital - Current Assets 80,000

X    60,000 Cash in hand 20,000

Y    60,000

Z    60,000 1,80,000

300,000 3,00,000
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Assets are realised 10% less than their book values. Creditors ware paid
in full. Dissolution expenses paid Rs. 1000. A contingent liability amount-
ing Rs. 1000 was paid which were not been recorded in the books. Pre-
pare realization A/c and partners capital A/c.

vFkok vFkok vFkok vFkok (OR)

izHkkr vkSj vfer ,d QeZ esa 3 % 2 ds vuqikr esa ykHk&gkfu dk foHkktuizHkkr vkSj vfer ,d QeZ esa 3 % 2 ds vuqikr esa ykHk&gkfu dk foHkktuizHkkr vkSj vfer ,d QeZ esa 3 % 2 ds vuqikr esa ykHk&gkfu dk foHkktuizHkkr vkSj vfer ,d QeZ esa 3 % 2 ds vuqikr esa ykHk&gkfu dk foHkktu
djus okys lk>snkj gS A mUgksaus izrhd dks 1@5 Hkkx ds fy, lk>snkjh esadjus okys lk>snkj gS A mUgksaus izrhd dks 1@5 Hkkx ds fy, lk>snkjh esadjus okys lk>snkj gS A mUgksaus izrhd dks 1@5 Hkkx ds fy, lk>snkjh esadjus okys lk>snkj gS A mUgksaus izrhd dks 1@5 Hkkx ds fy, lk>snkjh esa
izos’k fn;k rFkk mlls vko’;d iwath ekaxh xbZ A mDr frfFk ij izHkkr vkSjizos’k fn;k rFkk mlls vko’;d iwath ekaxh xbZ A mDr frfFk ij izHkkr vkSjizos’k fn;k rFkk mlls vko’;d iwath ekaxh xbZ A mDr frfFk ij izHkkr vkSjizos’k fn;k rFkk mlls vko’;d iwath ekaxh xbZ A mDr frfFk ij izHkkr vkSj
vfer ds iwath [kkrs Øe’k% 15]500 :- vkSj 8]500 gS blds vfrfjDrvfer ds iwath [kkrs Øe’k% 15]500 :- vkSj 8]500 gS blds vfrfjDrvfer ds iwath [kkrs Øe’k% 15]500 :- vkSj 8]500 gS blds vfrfjDrvfer ds iwath [kkrs Øe’k% 15]500 :- vkSj 8]500 gS blds vfrfjDr
lkekU; lap; 10]000 :- gS A iqu% ewY;kadu [kkrs dk ykHk 6]000 :- gS AlkekU; lap; 10]000 :- gS A iqu% ewY;kadu [kkrs dk ykHk 6]000 :- gS AlkekU; lap; 10]000 :- gS A iqu% ewY;kadu [kkrs dk ykHk 6]000 :- gS AlkekU; lap; 10]000 :- gS A iqu% ewY;kadu [kkrs dk ykHk 6]000 :- gS A
izrhd ds izos’k ij lk>snkjksa ds iwath [kkrs cukb, Aizrhd ds izos’k ij lk>snkjksa ds iwath [kkrs cukb, Aizrhd ds izos’k ij lk>snkjksa ds iwath [kkrs cukb, Aizrhd ds izos’k ij lk>snkjksa ds iwath [kkrs cukb, A
Prabhat and Amit are partners in a firm sharing profits and loss in the
ratio of 3 : 2. They admitted Pratik as a new partner. He bring sufficient
capital for getting 1/5 share in firm. The capital A/c showed balance of
Rs. 15500 and Rs. 8500 in the books of Prabhat and Amit. General Re-
serve of Rs. 10000 and Revaluation profit Rs. 6000 shown in the books.
Prepare partners capital A/c on the admission of new partner.

iz’u 29iz’u 29iz’u 29iz’u 29 &&&& euh"kk fyfe- us 10 :- okys 20]000 lerk va’k 10 izfr’kr izhfe;e ijeuh"kk fyfe- us 10 :- okys 20]000 lerk va’k 10 izfr’kr izhfe;e ijeuh"kk fyfe- us 10 :- okys 20]000 lerk va’k 10 izfr’kr izhfe;e ijeuh"kk fyfe- us 10 :- okys 20]000 lerk va’k 10 izfr’kr izhfe;e ij
fuxZfer fd, A jkf’k bl izdkj Fkh & vkosnu ij 2 :- ¼1 tuojh 1998½]fuxZfer fd, A jkf’k bl izdkj Fkh & vkosnu ij 2 :- ¼1 tuojh 1998½]fuxZfer fd, A jkf’k bl izdkj Fkh & vkosnu ij 2 :- ¼1 tuojh 1998½]fuxZfer fd, A jkf’k bl izdkj Fkh & vkosnu ij 2 :- ¼1 tuojh 1998½]
vkcaVu ij 4 :- ¼izhfe;e lfgr 1 vizsy 1998½] izFke ;kpuk ij 3 :-] ¼1vkcaVu ij 4 :- ¼izhfe;e lfgr 1 vizsy 1998½] izFke ;kpuk ij 3 :-] ¼1vkcaVu ij 4 :- ¼izhfe;e lfgr 1 vizsy 1998½] izFke ;kpuk ij 3 :-] ¼1vkcaVu ij 4 :- ¼izhfe;e lfgr 1 vizsy 1998½] izFke ;kpuk ij 3 :-] ¼1
tqu] 1998½] f}rh; vkSj vafre ;kpuk ij 2 :- ¼1 vxLr 1998½ Atqu] 1998½] f}rh; vkSj vafre ;kpuk ij 2 :- ¼1 vxLr 1998½ Atqu] 1998½] f}rh; vkSj vafre ;kpuk ij 2 :- ¼1 vxLr 1998½ Atqu] 1998½] f}rh; vkSj vafre ;kpuk ij 2 :- ¼1 vxLr 1998½ A
18000 va’kksa ds fy, vkosnu i= izkIr gq, rFkk lapkydksa us lHkh dks va’k18000 va’kksa ds fy, vkosnu i= izkIr gq, rFkk lapkydksa us lHkh dks va’k18000 va’kksa ds fy, vkosnu i= izkIr gq, rFkk lapkydksa us lHkh dks va’k18000 va’kksa ds fy, vkosnu i= izkIr gq, rFkk lapkydksa us lHkh dks va’k
vkcafVr dj fn, A ,d va’k/kkjh ftldks 400 va’k vkcafVr gq, Fks] mlusvkcafVr dj fn, A ,d va’k/kkjh ftldks 400 va’k vkcafVr gq, Fks] mlusvkcafVr dj fn, A ,d va’k/kkjh ftldks 400 va’k vkcafVr gq, Fks] mlusvkcafVr dj fn, A ,d va’k/kkjh ftldks 400 va’k vkcafVr gq, Fks] mlus
vkcaVu ds lkFk gh ’ks"k jkf’k dk Hkqxrku dj fn;k A lapkydksa us vfxzevkcaVu ds lkFk gh ’ks"k jkf’k dk Hkqxrku dj fn;k A lapkydksa us vfxzevkcaVu ds lkFk gh ’ks"k jkf’k dk Hkqxrku dj fn;k A lapkydksa us vfxzevkcaVu ds lkFk gh ’ks"k jkf’k dk Hkqxrku dj fn;k A lapkydksa us vfxze
;kpuk ij 6 izfr’kr okf"kZd nj ls C;kt nsuk r; fd;kA lHkh jkf’k;ksa dk;kpuk ij 6 izfr’kr okf"kZd nj ls C;kt nsuk r; fd;kA lHkh jkf’k;ksa dk;kpuk ij 6 izfr’kr okf"kZd nj ls C;kt nsuk r; fd;kA lHkh jkf’k;ksa dk;kpuk ij 6 izfr’kr okf"kZd nj ls C;kt nsuk r; fd;kA lHkh jkf’k;ksa dk
Hkqxrku dj fn;k x;k AHkqxrku dj fn;k x;k AHkqxrku dj fn;k x;k AHkqxrku dj fn;k x;k A
euh"kk fyfe- dh iqLrdksa esa tuZy ds vko’;d ys[ks dhft, Aeuh"kk fyfe- dh iqLrdksa esa tuZy ds vko’;d ys[ks dhft, Aeuh"kk fyfe- dh iqLrdksa esa tuZy ds vko’;d ys[ks dhft, Aeuh"kk fyfe- dh iqLrdksa esa tuZy ds vko’;d ys[ks dhft, A
Manish a Ltd. issued 20,000 shares of Rs. 10 each at 10% premium payable
as under -
Rs. 2 on application (1 January 1998)
Rs. 4 on Allotment including premium (1 April 1998)
Rs. 3 on first call (1 June 1998)
Rs. 2 on second and final call (1 August 1998)
Applications are received for 18000 shares and these share are alloted.
One share holder holding 400 shares paid the call money along with
allotment itself. Directors have decided to allow interest on call in
advance @ 6% P.a. The interset was paid in cash on 1.8.1998.
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Pass the necessary journal entries in the books of the company.

vFkok vFkok vFkok vFkok (OR)

,d daiuh us foØe fyfe- ls 99]000 :- ds laifRr;ka Ø; dh ;g lgefr,d daiuh us foØe fyfe- ls 99]000 :- ds laifRr;ka Ø; dh ;g lgefr,d daiuh us foØe fyfe- ls 99]000 :- ds laifRr;ka Ø; dh ;g lgefr,d daiuh us foØe fyfe- ls 99]000 :- ds laifRr;ka Ø; dh ;g lgefr
gqbZ dh bldk Hkqxrku 100 :- okys 11 izfr’kr _.ki=ksa ds fuxZeu }kjkgqbZ dh bldk Hkqxrku 100 :- okys 11 izfr’kr _.ki=ksa ds fuxZeu }kjkgqbZ dh bldk Hkqxrku 100 :- okys 11 izfr’kr _.ki=ksa ds fuxZeu }kjkgqbZ dh bldk Hkqxrku 100 :- okys 11 izfr’kr _.ki=ksa ds fuxZeu }kjk
fd;k tk;sxk A ;g ekurs gq, fd _.ki= ¼fd;k tk;sxk A ;g ekurs gq, fd _.ki= ¼fd;k tk;sxk A ;g ekurs gq, fd _.ki= ¼fd;k tk;sxk A ;g ekurs gq, fd _.ki= ¼i½ leewY; ij ¼½ leewY; ij ¼½ leewY; ij ¼½ leewY; ij ¼ii ½ 10 izfr’kr½ 10 izfr’kr½ 10 izfr’kr½ 10 izfr’kr
dVkSrh ij rFkk ¼dVkSrh ij rFkk ¼dVkSrh ij rFkk ¼dVkSrh ij rFkk ¼iii ½ 10 izfr’kr izhfe;e ij fuxZfer fd, x, gSa A½ 10 izfr’kr izhfe;e ij fuxZfer fd, x, gSa A½ 10 izfr’kr izhfe;e ij fuxZfer fd, x, gSa A½ 10 izfr’kr izhfe;e ij fuxZfer fd, x, gSa A
vko’;d iath izfof"V;ka dhft, Avko’;d iath izfof"V;ka dhft, Avko’;d iath izfof"V;ka dhft, Avko’;d iath izfof"V;ka dhft, A
A Ltd. company purchesed Assects worth Rs. 99000 from Vikram Ltd. It
was agreed that the purchese consideration be paid by issuing 11 %
debentures of Rs. 100 each. Assum by that is debenures have been issued
(i) At par
(ii) At 10% discount.
(iii) At 10% premium.

Give necessary journal entries.

iz’u 30iz’u 30iz’u 30iz’u 30 &&&& ^jked`".k* Dyc dk izkfIr Hkqxrku [kkrk 31 fnlacj 2007 dk fuEukuqlkj^jked`".k* Dyc dk izkfIr Hkqxrku [kkrk 31 fnlacj 2007 dk fuEukuqlkj^jked`".k* Dyc dk izkfIr Hkqxrku [kkrk 31 fnlacj 2007 dk fuEukuqlkj^jked`".k* Dyc dk izkfIr Hkqxrku [kkrk 31 fnlacj 2007 dk fuEukuqlkj
gS&gS&gS&gS&

1 tuojh 2007 dks fuEufyf[kr laifRr;ka vkSj nkf;Ro Fks & crZu 800] :-1 tuojh 2007 dks fuEufyf[kr laifRr;ka vkSj nkf;Ro Fks & crZu 800] :-1 tuojh 2007 dks fuEufyf[kr laifRr;ka vkSj nkf;Ro Fks & crZu 800] :-1 tuojh 2007 dks fuEufyf[kr laifRr;ka vkSj nkf;Ro Fks & crZu 800] :-
QuhZpj 2]500 :] iz;ksx djus okys LVkslZ 350 :-] ysunkj 1200 :-] 31QuhZpj 2]500 :] iz;ksx djus okys LVkslZ 350 :-] ysunkj 1200 :-] 31QuhZpj 2]500 :] iz;ksx djus okys LVkslZ 350 :-] ysunkj 1200 :-] 31QuhZpj 2]500 :] iz;ksx djus okys LVkslZ 350 :-] ysunkj 1200 :-] 31
fnlacj 2007 dks iz;ksx djus okys LVkslZ dk ewY; 700 :-] ysunkj 550 :-fnlacj 2007 dks iz;ksx djus okys LVkslZ dk ewY; 700 :-] ysunkj 550 :-fnlacj 2007 dks iz;ksx djus okys LVkslZ dk ewY; 700 :-] ysunkj 550 :-fnlacj 2007 dks iz;ksx djus okys LVkslZ dk ewY; 700 :-] ysunkj 550 :-
,oa vizkIr pank 75 : Fkk A LFkk;h tek ij 25 :- C;kt mikftZr gS A 31,oa vizkIr pank 75 : Fkk A LFkk;h tek ij 25 :- C;kt mikftZr gS A 31,oa vizkIr pank 75 : Fkk A LFkk;h tek ij 25 :- C;kt mikftZr gS A 31,oa vizkIr pank 75 : Fkk A LFkk;h tek ij 25 :- C;kt mikftZr gS A 31
fnlacj 2007 lekfIr o"kZ gsrq vk; O;; [kkrk vkSj fpV~Bk cukb;s Afnlacj 2007 lekfIr o"kZ gsrq vk; O;; [kkrk vkSj fpV~Bk cukb;s Afnlacj 2007 lekfIr o"kZ gsrq vk; O;; [kkrk vkSj fpV~Bk cukb;s Afnlacj 2007 lekfIr o"kZ gsrq vk; O;; [kkrk vkSj fpV~Bk cukb;s A
The receipt and Payment of ' Ramkrishna' Club for the tear ended
31.12.2007 is as follows -

izkfIr;kaizkfIr;kaizkfIr;kaizkfIr;ka jkf’kjkf’kjkf’kjkf’k Hk qxrkuHk qxrkuHk qxrkuHk qxrku jkf’kjkf’kjkf’kjkf’k

jksdM+ 'ks"kjksdM+ 'ks"kjksdM+ 'ks"kjksdM+ 'ks"k 2]3502]3502]3502]350 osruosruosruosru 1200120012001200

izos'k 'kqYdizos'k 'kqYdizos'k 'kqYdizos'k 'kqYd 300300300300 fctyh [kpZfctyh [kpZfctyh [kpZfctyh [kpZ 120120120120

fofo/k vk;fofo/k vk;fofo/k vk;fofo/k vk; 425425425425 vU; O;;vU; O;;vU; O;;vU; O;; 530530530530

pank &pank &pank &pank & LFkk;h tekLFkk;h tekLFkk;h tekLFkk;h tek 2]5002]5002]5002]500

2006 & 502006 & 502006 & 502006 & 50 crZucrZucrZucrZu 200200200200

2007 & 3]5002007 & 3]5002007 & 3]5002007 & 3]500 ysunkjysunkjysunkjysunkj 1]0001]0001]0001]000

2008 & 752008 & 752008 & 752008 & 75 3]6253]6253]6253]625 jksdM+ 'ks"kjksdM+ 'ks"kjksdM+ 'ks"kjksdM+ 'ks"k 1]1501]1501]1501]150

6]7006]7006]7006]700 6]7006]7006]7006]700
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On 1.12007 its assets and liabilities are as under utensils Rs. 800,
Furniture 2500, Consumable store Rs. 350, Creditors Rs. 1200.
On 31.12.2007 consumable stores  Rs. 700, creditors 550, outstanding
subscription Rs. 75, Accrued interest on Fixed deposit Rs. 25.
Prepare income and expenditure A/c and Balance sheet.

vFkok vFkok vFkok vFkok (OR)

fuEu fooj.k ls 31 fnlacj 2007 dk vk; O;; [kkrk ,oa fpV~Bk cukb;s AfuEu fooj.k ls 31 fnlacj 2007 dk vk; O;; [kkrk ,oa fpV~Bk cukb;s AfuEu fooj.k ls 31 fnlacj 2007 dk vk; O;; [kkrk ,oa fpV~Bk cukb;s AfuEu fooj.k ls 31 fnlacj 2007 dk vk; O;; [kkrk ,oa fpV~Bk cukb;s A
izkfIr Hkqxrku [kkrk ¼31 fnlacj 2007 o"kZ dh lekfIr gsrq½izkfIr Hkqxrku [kkrk ¼31 fnlacj 2007 o"kZ dh lekfIr gsrq½izkfIr Hkqxrku [kkrk ¼31 fnlacj 2007 o"kZ dh lekfIr gsrq½izkfIr Hkqxrku [kkrk ¼31 fnlacj 2007 o"kZ dh lekfIr gsrq½

Receipts Amt. Payments Amt.

To Balance b/d 2]3502]3502]3502]350 Salary 1200120012001200

Entrance fee 300300300300 Electricity charge 120120120120

Other receipts 425425425425 Other expences 530530530530

Sabscription Fixed Deposit 2]5002]5002]5002]500

2006 & 502006 & 502006 & 502006 & 50 Utensils 200200200200

2007 & 3]5002007 & 3]5002007 & 3]5002007 & 3]500 Creditors 1]0001]0001]0001]000

2008 & 752008 & 752008 & 752008 & 75 3]6253]6253]6253]625 Balance C/d 1]1501]1501]1501]150

6]7006]7006]7006]700 6]7006]7006]7006]700

izkfIr;kaizkfIr;kaizkfIr;kaizkfIr;ka jkf’kjkf’kjkf’kjkf’k Hk qxrkuHk qxrkuHk qxrkuHk qxrku jkf’kjkf’kjkf’kjkf’k

izkjafHkd 'ks"kizkjafHkd 'ks"kizkjafHkd 'ks"kizkjafHkd 'ks"k 6]0006]0006]0006]000 osruosruosruosru 1700170017001700

pank & 2006pank & 2006pank & 2006pank & 2006 80808080 LVs'kujhLVs'kujhLVs'kujhLVs'kujh 160160160160

    2007    2007    2007    2007 14]00014]00014]00014]000 Mªkek [kpZMªkek [kpZMªkek [kpZMªkek [kpZ 340340340340

    2008    2008    2008    2008 240240240240 lkekU; O;;lkekU; O;;lkekU; O;;lkekU; O;; 100100100100

nkunkunkunku 1]0801]0801]0801]080 v[kckjv[kckjv[kckjv[kckj 300300300300

Mªkek ls vk;Mªkek ls vk;Mªkek ls vk;Mªkek ls vk; 1]8001]8001]8001]800 Nk=o`fRrNk=o`fRrNk=o`fRrNk=o`fRr 1]0001]0001]0001]000

jn~nh v[kckj dkjn~nh v[kckj dkjn~nh v[kckj dkjn~nh v[kckj dk 120120120120 fofu;ksxfofu;ksxfofu;ksxfofu;ksx 4]0004]0004]0004]000

fodz;fodz;fodz;fodz;

fofu;ksx ij C;ktfofu;ksx ij C;ktfofu;ksx ij C;ktfofu;ksx ij C;kt 200200200200 fctyh [kpZfctyh [kpZfctyh [kpZfctyh [kpZ 260260260260

VwukZes.V ls vk;VwukZes.V ls vk;VwukZes.V ls vk;VwukZes.V ls vk; 1]5401]5401]5401]540 vafre 'ks"kvafre 'ks"kvafre 'ks"kvafre 'ks"k 17]20017]20017]20017]200

25]06025]06025]06025]060 25]06025]06025]06025]060
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fuEu lwpukvksa dks /;ku esa j[krs gq, vk; O;; [kkrk vkSj fpV~Bk cukuk gS&fuEu lwpukvksa dks /;ku esa j[krs gq, vk; O;; [kkrk vkSj fpV~Bk cukuk gS&fuEu lwpukvksa dks /;ku esa j[krs gq, vk; O;; [kkrk vkSj fpV~Bk cukuk gS&fuEu lwpukvksa dks /;ku esa j[krs gq, vk; O;; [kkrk vkSj fpV~Bk cukuk gS&
¼¼¼¼ i ½½½½ Dyc ds 1600 lnL;] izfr lnL; 9 :- lkykuk pank nsrs gS ADyc ds 1600 lnL;] izfr lnL; 9 :- lkykuk pank nsrs gS ADyc ds 1600 lnL;] izfr lnL; 9 :- lkykuk pank nsrs gS ADyc ds 1600 lnL;] izfr lnL; 9 :- lkykuk pank nsrs gS A

o"kZ 2006 dk 100 :- pank cdk;k Fkk Ao"kZ 2006 dk 100 :- pank cdk;k Fkk Ao"kZ 2006 dk 100 :- pank cdk;k Fkk Ao"kZ 2006 dk 100 :- pank cdk;k Fkk A
¼¼¼¼ i i ½½½½ 200 :- nku ds vHkh rd izkIr ugha gq, gS A200 :- nku ds vHkh rd izkIr ugha gq, gS A200 :- nku ds vHkh rd izkIr ugha gq, gS A200 :- nku ds vHkh rd izkIr ugha gq, gS A
¼¼¼¼ i i i ½½½½ 80 :- uxj ikfydk dj ,oa 140 :- osru dk vnRr gS A80 :- uxj ikfydk dj ,oa 140 :- osru dk vnRr gS A80 :- uxj ikfydk dj ,oa 140 :- osru dk vnRr gS A80 :- uxj ikfydk dj ,oa 140 :- osru dk vnRr gS A
¼¼¼¼ iv ½½½½ fofu;ksx ij 70 :- C;kt cdk;k gS Afofu;ksx ij 70 :- C;kt cdk;k gS Afofu;ksx ij 70 :- C;kt cdk;k gS Afofu;ksx ij 70 :- C;kt cdk;k gS A
¼¼¼¼v½½½½ Hkou dk iqLrdh; ewY; 10]000 :- gS ftlij 5 izfr’kr gzkl ?kVkukHkou dk iqLrdh; ewY; 10]000 :- gS ftlij 5 izfr’kr gzkl ?kVkukHkou dk iqLrdh; ewY; 10]000 :- gS ftlij 5 izfr’kr gzkl ?kVkukHkou dk iqLrdh; ewY; 10]000 :- gS ftlij 5 izfr’kr gzkl ?kVkuk

gS AgS AgS AgS A
¼¼¼¼vi ½½½½ 1 tuojh 2007 dks LVs’kujh dk ewY; 180 :- rFkk 31 fnlacj 20071 tuojh 2007 dks LVs’kujh dk ewY; 180 :- rFkk 31 fnlacj 20071 tuojh 2007 dks LVs’kujh dk ewY; 180 :- rFkk 31 fnlacj 20071 tuojh 2007 dks LVs’kujh dk ewY; 180 :- rFkk 31 fnlacj 2007

dks 30 :- Fkk Adks 30 :- Fkk Adks 30 :- Fkk Adks 30 :- Fkk A
Prepare  income  and  expenditure  A/c and  Balance  sheet  from the
following on 31.12.2007 -

Adjustments -
(i) The club has 1000 members each has to pay Rs. 9 as annual

subscription.  Rs.  100  was outstanding  for the  year  2006  as
subscription.

(2) Donation Rs. 200 is not received till now.
(3) Corporation tax Rs. 80 and salary Rs. 140 is still outstanding.
(4) Interest Rs. 70 is accrued on investment.
(5) The book value at building Rs. 1000 charge depreciations on it

@  5%
(6) The cost of stationary on 1.1.2007 was Rs. 180 and on 31.12.2007

its value was Rs. 30.

----------X----------

Receipts Amt. Payments Amt.

To Balance b/d 6]0006]0006]0006]000 Salary 1700170017001700

Subscruption & 2006& 2006& 2006& 2006 80808080 Stationary 160160160160

           2007           2007           2007           2007 14]00014]00014]00014]000 Drama expenses 340340340340

           2008           2008           2008           2008 240240240240 Other expenses 100100100100

To Donation 1]0801]0801]0801]080 News paper 300300300300

Income from Drama 1]8001]8001]8001]800 scholarship 1]0001]0001]0001]000

To sale of waste paper 120120120120 investment 4]0004]0004]0004]000

To interest on investment 200200200200 Electric charges 260260260260

Income from tournament 1]5401]5401]5401]540 balance c/d 17]20017]20017]20017]200

25]06025]06025]06025]060 25]06025]06025]06025]060


